PAY LIMIT = 135'-9"
31 3 32'-11"
___ w:|VA|
e e et e * - *> - - * * *
LI _ _
NORTH WALL .m. .m. .m. .M. .m. .m. .m. .m.
FACE OF RAIL IS 722’ RADIUS CONCAVE 7L 18 SPACES @ 6.7 136" = 119-0"
25"-114" 31"
L.: A. — w:
m L 1 1
> E3 * * * * * * * — ]
_ _ LU
=T — T T T T T T T —=
_ el | L NORTH WALL
PAY LIMIT = 128’ mm..
31" 3 24'-11"
w ——— A.
Siiin ] i i ] ] ] ] ]
SOUTH WALL — m. L L m. m. |m. |m. .m. _
FACE OF RAIL IS 683" RADIUS CONVEX 2ol o] . S P
17 SPACES @ 6'-7 7/16" = :m-mw
' M: v
26 -mm Y 31
8
_.o. _.o. - _.o._ - _.o. - .Q_ |mII|m|
T T i T T T i T —=
N SOUTH WALL
2'-9 7
16
14 |
NOTE: NORTH RAIL TO BE SHOP CURVED W/ 722’ |m_.§ wP\. __
CONCAVE RADIUS., SOUTH RAIL TO BE SHOP il 2 WPS 3012
CURVED W/ 683’ CONVEX RADIUS. |_. 178" n
1= -l b N | ITEM #: 525.45 FR Lafayette - JAMAICA, EM13-016 [ sHeeT 1 oF 3
elded to 43" Tube " APPROVED BY: BRIDGE RAIL DETAILS SHEET
i |__I EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
Hm.._l 3. p\\I__I m = DATE [ DESCRIPTION BY| R [NO.] DATE DESCRIPTION [BY]
4 _|_”A 16 WPS 3012 7/1/13 |REVISE PER 6/28/13 EMAIL [EP.| E
O|_. m 178 o AALCIC . 7/23/13 [REVISE PER 7/23/13 EMAIL |E.P.
RN P. 5/30/13
Mnl_ = m END OF RAIL DETAIL ,HC_V\ Nm_ 2013 m.hb.m_.mh.m..m. INC. .. wm,mww_.m_\ﬂmm W_.__NM,M,_\A—MU _U_M__Mv 5/31/13
Welded to 2x2” ._.c_omA KH LS >u§o<mm‘85 omﬁmmnw&r@%w:%@mﬂ%wwnﬁm; wﬂmm,mg w.o:m_sﬁ_m
] Tel:315—789—-6670 Fax:8315—789—6615 DRAWING NO. FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


2
|®| _
|— I:|
5
|w=
NP__
16
T _: I N G‘_Hw:
7 WB: 2 .%\\l 16 AA.XV
16 T —
mp__ _ . @ 4
10" | ™16 JiM m
g" | 11
_ & & l®a= (2x) © ©
\ e
A R3"
o/ R
HSS 4°x4*x5/16° CENTERE 4
ON BASEPLATE
5/16°x3-5/8"x3-5/8" CAP 3, 11
=" |- "
WPS 3012 |/ 3. 4 _ Ga FRONT
] ) 41 pii WALL ONLY
+ H# Wﬂ_
_ _ 87/8* x 2] _
_ _ m SLOT THRU _ _
HSS 43"/ 4——| g" _ _
130 uss 2rxerxiser _ | |
A x2'x1/8 -l
1 f _ 1'-6 _ _
# | o3 x 1 u\m..\_\mm. |
_ Stot THRU |l _
_ 7" _ _
WPS 3002
5/16° | _ _
: i _ 1
]
m__n_ ._ M L I I I I
4 w.. LASTOMERIC PAD
98"
®15/16” X 1 1/8" SLOTTED HOLE IN RAIL, 7/8° X 1'-2* SLOTTED, ROUN
HEAD BOLTS W/ HEX NUT, 1 PLAIN HARDENED WASHER, & 1 LOCK WASHER
» 5 g CTYP)
—s| A
|
#11/16* X 7/8" SLOTTED HOLE IN RAIL, 85/8" %] o w
1’-1” SLOTTED, ROUND HEAD BOLTS W/ HEX NUT, 1
PLAIN HARDENED WASHER, 1 LOCK WASHER (TYP> ; %
e gy _
l._AI
¢
J
$

383"

TYP.

WINGWALL DETAIL

W/ (2> HEAVY HEX NUTS,

$5/8” x 13' THREADED ROD,

(1> PLAIN HARDENED WASHER,

(1> LOCK WASHER

ROADSIDE

\.S_.l TYP.
e
Nvmw .
IHwi
1
@ O 22
_
I
S8
31
/8
1,
2.
3.
4,
3.
6.
7.
8.

ROADSIDE

BILL OF MATERIAL

QTY DESCRIPTION ASTM DESIGNATION

33  |TwO RAIL POST & BASEPLATE ASSEMBLY AS72 Gr. 30 CVN

4 4" X 3" X 1/4" RAIL e 31'-0" AS00 Gr. B

1 4" X 3" X 1/4" RAIL e 32'-11" AS00 Gr. B

1 4" X 3" X 1/4" RAIL e 25'-11 1/4* AS00 Gr. B

1 4" X 3" X 174" RAIL e 24'-11" AS00 Gr. B

1 4" X 3" X 1/4” RAIL e 26’-8 3/8” AS00 Gr. B

4 2’ X 2 X 1/8" RAIL e 31'-0* AS00 Gr. B

1 2" X 2" X 1/8” RAIL e 32'-11” AS00 Gr. B

1 2" X 2" X 1/8" RAIL e 25'-11 1/4* AS00 Gr. B

1 2" X 2" X 1/8" RAIL e 24'-11" AS00 Gr. B

1 2’ X 2’ X 1/8" RAIL e 26’-8 3/8” AS00 Gr. B

4 1-1/2" X 1-1/2" FIX. SPL BAR @ 2’ 4~ AS72 Gr. 50

2 1-1/2* X 1-1/2" EXP. SPL BAR @ 2’ 4~ AS72 Gr. 30

4 2-1/4" X 3-1/4” FIX. SPL. BAR @ 2’ 4* AS72 Gr. 30

2 2-1/4" X 3-1/4" EXP. SPL. BAR @ 2’ 4” AS72 Gr. 30

66 |3/8" X 2 1/4" X 7 3/8" ANCHOR PLATES A36

132 [ 5/8" X 13 ANCHOR STUDS A449 Gr. 1

264 | 5/8" HEAVY HEX NUTS & FLAT WASHERS AS63 & F436

33 ¢ 5/8" X 7 1/2" ROUND HEAD BOLT, NUT, F.W.,, & L.W. A325, AS563, F436, & ASME Bi18.21.1
33 [? 3/4” X 8 1/2” ROUND HEAD BOLT, NUT, F.W., & LW, A325, AS63, F436, & ASME B18.21.1
24 |8 5/8" X 3" HEX BOLT, NUT, F.W,, & L.W. A325, AS63, F436, & ASME Bi18.211
24 ¢ 7/8" X 5 1/2" HEX BOLT, NUT, F.W.,, & L.W. A3235, AS63, F436, & ASME Bi18.211
8 @ 5/8" X 13 SLOTTED, ROUND HEAD BOLT, NUT, F.W., & L.W. |[A325, AS63, F436, & ASME Bi18.211
16 @ 7/8" X 14 SLOTTED, ROUND HEAD BOLT, NUT, F.W., & L.W. |[A325, AS63, F436, & ASME Bi18.211
10 @ 5/8" X S5 1/2” HEX BOLT, NUT, F.W.,, & L.W. A325, AS63, F436, & ASME Bi18.211

NOTES:
ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525,
PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16”.
ALL POSTS SHALL BE SET NORMAL TO GRADE.
SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TwO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS.
HOLES IN RAILS FOR TUBE ATTACHMENT, MAY BE FIELD-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH

PAINT PRIOR TO INSTALLATION.
BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB).
RAIL TUBES SHALL BE ATTACHED USING 3/4”
THROUGH THE FACE OF THE TUBE.
SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR

10 - DELINEATORS - ALUMINUM
33 - 1/8" ELASTOMERIC PAD - D2240

FULL DIAMETER BODY ASTM A449 (TYPE I> ROUND HEAD BOLTS INSERTED

THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER’S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
INSTALLED ON THE DRIVER’S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER ITEMS,

9. AESTHETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED IN THE CONTRACT PLANS. IF NONE IS SPECIFIED IT SHALL
NOT BE USED. AESTHETIC TREATMENT DETAILED ON THIS SHEET MAY ALSO BE APPLIED ON THE FASCIA SIDE OF THE RAIL,
IFF SPECIFIED IN THE CONTRACT PLANS.

10.
11,
12.

PRIOR TO INSTALLATION.

KH

ITEM #: 525.45

BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION 301
THIS RAILING MEETS THE REQUIREMENTS FOR A NCHRP REPORT 350 TL-4 SERVICE LEVEL.
HOLES FOR MOUNTING DELINEATORS TO BE FIELD DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT

FR Lafayette - JAMAICA, EM13-016

| SHEET 2 0F 3

_ APPROVED BY:

RK/JG/GL

July 25, 2013

NO

BRIDGE RAIL DETAILS SHEET

EM13-006, JAMAICA ER BRF 015-1 (2
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30

JS

DATE | DESCRIPTION

BY

R [NO.| DATE

DESCRIPTION

BY]

7/1/13 [REVISE_PER 6/28/13 EMAIL

E.P.

1/23/13 [REVISE_PER 7/23/13 EMAIL

E.P.

Approved AsNoted
8-8-2013

ELDERLFEE,INC.
OAKS CORNERS, NEW YORK 14518
E—Mail: dlong@elderlee.com
Tel:315—789—-6670 Fax:315—-789—-6615

2C
<

FABRICATOR

DRAWN E.P.

ERTIFIED

5/30/13

CHECKED | D.L.

5/31/13

APPROVED

SCALE

SCHEMATIC

DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
Text Box
10 - DELINEATORS - ALUMINUM
33 - 1/8" ELASTOMERIC PAD - D2240

jsalvatori
StructuresShopDrawing


$15/16" THRU TUBE & SPLICE BAR,
@7/8"XS 1/2” HEX BOLT & NUT,
W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER <4 PLACES

TOP RAIL FIXED SPLICE DETAIL

N e o~ - ~ais - Nt B
| B W |, 11 A
L In N . N|=I
8 4
[I111 111 L1111 L1111 [ 11
= |_”|”|”|m_n|”|”|mu — — W — — Hmﬁ ”|”|H‘m|”|”|”_| — T _ 7 N .»_
N o e 35"

1/4"x43° TYP,

g11/16” THRU TUBE & SPLICE BAR,
$3/8"X3” HEX BOLT & NUT,

W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER <4 PLACES)

1/4"x43° TYP,

$15/16” THRU TUBE & 915/16” X 3” SLOT THRU SPLICE
BAR., #7/8"XS 1/2” HEX BOLT & NUT, W/ (1> PLAIN
HARDENED WASHER & (1> LOCK WASHER (4 PLACES)

TOP RAIL EXPANSION
SPLICE DETAIL

|03 ] |
%4 215/16" X 3" SLOT (4X)
- - -E - - - > -
Ih._. _ NN:I
[I11] [I1]] [I1]] [IL]] [ 11
— = |_H|”|n_” me|n_”|”_n u.Hu.|”_n| |n_” == n_”|”_n|umm ”_n|”|H_| - ] _ N T
< L N N 31

R e e e P e _ _

i A i N i S A
_ n__ | 43w Su__| n_ | 1/4"x45° TYP,
! m ! A.L. A.L. ! m !

A.IN: A_IN:

$11/716” THRU TUBE & @11/16” X 3” SLOT THRU
SPLICE BAR. #5/8”X3” HEX BOLT & NUT,wW/ (1> PLAIN
HARDENED WASHER & (1> LOCK WASHER (4 PLACES)

BOTTOM RAIL EXPANSION
SPLICE DETAIL

X 3" SLOT (4X)

4 011/16"
WI

- e

N|—

1/4"x435° TYP,

| sHEET 3 0F 3

ITEM #: 525.45

FR Lafayette - JAMAICA, EM13-016

BRIDGE RAIL DETAILS SHEET

EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
DATE | DESCRIPTION BY] R [NO.] DATE| DESCRIPTION _ |BY|
7/1/13 |REVISE_PER 6/28/13 EMAIL |EF.| E
7/23/15 [REVISE_PER 7/23/13 EMAIL |EP.

_ APPROVED BY:

RK/NJG/GL JS

July 25, 2013

DRAWN E.P. 5/30/13

R CERTIFIED
NO Approved FLDERLEFE,INC. CHECKED | DL. 58113

\ / < FABRICATOR
APPROVED
KH 8-8-2013 0AKS CORNERS, NEW YORK 14578

o E—Mail: dlong®@elderlee.com SCALE SCHEMATIC
_ Tel:315—789—6670 Fax:315—789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


HSS 6"x6"x3/16" Kickback
@ 8'-10" w/End Cap

34' PAY LIMIT

N L}
I I I I I I I I r—
+ H [
. POST 14 POST 13 POST 12 \l; ﬁw._. 1 POST 10 POST 9 POST 8 POST 7 POST 6 POST S POST 4 POST 3 POST 2 POST 1
s
HSS 6"x6"x3/16" Ralil % ....................... wAn
@72 S WM\Q
A" Aﬁ ............................... . 3 W
A I 1 A 0 11
7 \ ; - _4
g +|||- oo I - 1o \ _:om;m 1-108" m 1-11d ﬂ 1 :m.ﬂﬂ A%W _A.m_ﬁ 1 .Q_W 1 m_m e é._ "
! N 7 N A 1
3] — I i A K
Ar
! i ok
Mo l w.._ M m.._q.. y N RN RER _.... ...._ _.... ..._‘4 g ek rim I JTI_
. _ . T o . ,‘4 2 SPACES @ 3-0" = 6 | 4 SPACES @ 2-0" = m._|_|1.v —2—
: mwxmwww% S SPADE 7 7 S3x5.7 POST @ 7-1/2" W/ SPADE | 7 7 s\mxww@mw m.w_w,_m\wwv% Mt
(22 (5 (4
"ATAT S ; o0 ® O , i
_ 0
(162
\J/
WW1 (STRAIGHT) & WW3 (W/ 30' RADIUS) s /13)
B"-"B i 1_
4t |mm
ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | sHEET 1 0F 8
APPROVED BY: BRIDGE RAIL DETAILS SHEET
RAIL BENDING PROCEDURE: EM13-006, JAMAICA ER BRF 015-1 (23)
RADII GREATER THAN 16° TO BE CURVED ON A ﬂoﬁ,vzh_._.nm% JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
[ DESCRIPTION BY] R [NO.] DATE| DESCRIPTION _ |BY|
TUBE BENDING MACHINE, RADII LESS THAN 1&’ RK/JGIGL 38 W\\m\\__w _mmd_mm_mm ﬂmmﬂ mﬂ\me_\u,_uﬁnh__m m“ ,_.w
TO0 BE “PIE CUT” AND WELDED. July 25, 2013 ._mmﬁ_:mo SRAWN T 53073
NO Approved ELDERLEE,INC. [NW/<ERCACR] CHECKED | DL. 58113
5 8.8-2013 0AKS CORNERS, NEW YORK 14578 APPROVED | . .
E—Mail: dlong®@elderlee.com SCALE SCHEMATIC
_ Tel:315—789—6670 Fax:315—789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


BILL OF MATERIALS, (EACH> WWI! & WW3 CORNERS HARDWARE NOTES
ITEM #] QTY, DESCRIPTION MATERIAL (ASTM) ITEM # FUNCTION
5 3 137 T-POST, PUNCH 8, W/SPD @ 63" LG AS75 G 50 19 [BOLT RALL TO SHELF ANGLE CITEM #10)
54 T 137 1-POST, PUNCH 8, & 20° W/SPD & 63" LG 2575 Gr. 50 20 |BOLT SHELF ANGLE CITEM #'S 10 & 1) 7O POST
3 13" T-END POST W/SPD @ 3=8" LC AS75 Cr 50 21 |BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM # &
- : . _ 23 |(4 PER SPLICE TUBING (ITEM ¥ 7, & (4) PER PARAPET WALL CONNECTION CITEM ¥ 26)
4 4 [w6x5 POST @ 7°-1/2" W/SPD & 5/8° HOLES (SPACING VARIES) AS72 Gr. 50 24 [BOLT RAIL CITEMS #S 17, & 18 T0 BLOCK-OUTS (ITEM # 13) [WHERE FASTENED]
S 6 |3 I-POST, HOLES 8 & VARIES’, w/8X31 1/2” SPADE @7'-1/2° AS72 Gr. 50 25 |BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL (ITEM #18) & KICKBACK (ITEM #15) & ITEM #1D)
7 1 HSS 5X5 TUBE SPLICE @27 LG w/ 1/4’ SHIMS AS00 Gr. B / AS72 Gr 50
10 18 REG BB SHELF ANGLES e 4-1/2* AS72 Gr. 30
11 1 DWY BB SHELF ANGLES @ 4-1/2” AS72 Gr. 50
12 1 HSS 5X5 DBL BEND TUBE SPL e 28” LG AS00 Gr. B / AS72 Gr S0
13 8 HSS 6X8” TRANS, TUBE B/0O @ & LG AS00 Gr. B
15 1 HSS 6X6” BB @ 8-10" KICKBACK, w/ CAP AS00 Gr. B / A36
16 05 |HSS 6X6” BB e 17/-11 1/2“, DRILL 3’ CC AS00 Gr. B
17 1 HSS 6X6” BB TOP TRANS e 24'-9 1/4” LG AS00 Gr. B mm__
18 1 HSS 6X6” BB BTM TRANS @ 25'-5 3/16” LG AS00 Gr. B
19 17 3/8" X 7 1/2” BOLT, NUT, & 2 FW A307, AS63, F436
20 19 1/2” x 1-1/2” BOLT, NUT, & FW A307, AS63, F436 1.
- - . d ’ ’ HSS 5" x 5" x 5/16" @ 2' 3" —72' TP Centerline of @ 7/8"
21 16 [5/167 x 1-1/2” BOLT, NUT, 2 FV & LW A307, AS63, F436, ASME BI8.2Ll Galvanzad Tube WPS 3009 PLAN ok Top 8 Bottom of
23 8 [3/4” X 7-1/2” BOLT, NUT, 2 FW & LW A325, AS63, F436, ASME BIB.211 v o, HSS 6'x6"x3/16" Tube (Typ.)
24 8 7/8" X 7 1/2” CARR BOLT, NUT, FW & LW A307, AS63, F436, ASME B18.211 | t t t
25 2 3/4" X 7 1/2” BOLT, NUT, 2 FW, & LW A325, AD63, F436, ASME B18.21.1 4" x 1/4" x 26" Fill Plate
26 1 |PARAPET WALL CONNECTION AS72 Gr.50, AGlS Gr.60, AS00 Gr. B (Top & Bottom)
NOTE: ITEMS 16, 17 & 18 TO HAVE 30" RADIUS FOR WINGWALL #3 | | | | . )
ELEVATION (4) 3/4" Fully Threaded Bolts. 7 1/2" Long
FIXED %m ASSY (ASTM A325, TYPE 1) 2 Washers and a
- Heavy Hex Nut on each Bolt. Nut to be Finger
BILL OF MATERIALS Typ, Tight and the First Thread below the nut to be
ITEM #(QTY DESCRIPTION ASTM # ) damaged A.O.B.E.. 4 Bolts at Each Splice.
4" x 1/4" x 26" Fill Plate ELEVATION CITEM # 75
1 1 DBL TUBE WALL PLATE - I X 12° x 25 ASTM A572 Gr. 50 FIXED SPLICE TUBE SPLICE TUBE - FIXED
2 10 RAW, ©5/8" REBAR € 36’ AGIS, Gr. 60
3 2 57 X 5 X 5/16° TUBE W/ SLOTS @ 18° ASTM AS00 Gr. B
4 2 SHIM PL 1/2° X 4 X 17° W/ SLOTS ASTM A36(ASTM A709 Gr. 36)CVN BACK VIEW
5 2 SHIM PL 172" X 4 X 17 (W/0 SLOTS) ASTM A36(ASTM A709 Gr. 36)CVN |~I
L | L
Sl [ l
frt+t— 44
o i A—
" V4 " U-\
PROTRUSIONS CAUSED BY WELDING OR mv X m.v X “w\”_.mv {\m_ldm
GALVANIZING ARE NOT PERMITTED ON THE END CAP, W/CUT CORNERS
SPLICE TUBES AND FILL PLATES
8-10"
‘Left Shown’ 710"
Wing Wall 1 = “Left” -
Wing Wall 2 = ‘Right” 3 — éwmmawcmé
. P Wing Wall 3 = ‘Right” "
RIGHT / APPROACH N Wing Woll 4 = “Loftr 1 7 al
3
H: m:l |- —— o —  — . —— —— —— o . — . — . — . ——— — " m— | — e . . . e, . s, - —— — =
- | . S e
45 REBAR (10X \ _w _ /& 7/8" 1/e2” — _AIA
— T (TOP & BOTTOM) (TOP & BOTTOM)
M Y/
_ ] TOP VIEW ® 5/8” HANGIN
— ——\MITER @ 125 — HOLE FOR GALV
2 (TOP & BOTTOMD
. | 4 mmA_u CITEM # 15>
1'-55" :
_m ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 2 0F 8
raolh APPROVED BY: BRIDGE RAIL DETAILS SHEET
2 EM13-006, JAMAICA ER BRF 015-1 (23)
| TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
Y R[NO. | DATE| DESCRIPTION BY| R [NO.] DATE| DESCRIPTION |BY
, E[ 1| 7/8/13 |REVISED PER 6/28/13 MARK UP |EF.| E
1~ - 21 m»rm/vm_ n_.__u_”_._u_w_.w @ AT s v|[ 2 | 1/%/13 |REVISE PER 7/23/13 EMAIL |EF.| V
July 25, 2013 ) S oneokep [ oL 2otrs
CITEM # 26) p No  Approved Wy ELDERLEE,INC. N wroveD |
&Y/ O04KS CORNERS, NEW YORK 14518 -
KH 8-8-2013 E—Mail: dlong@elderlee.com SCALE SCHEMATIC
| Tel:315—789—-6670 Fax:8315—789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


\/2* HOLES PLAN VIEW HOLE POSITION CHART
g TOP+BOTTOM (TYP.) TOP VIEW mﬂmu_w mﬁxh%%xw ) POST LENGTH
2" _I (TOP & BOTTOM TOP+BOTTOM _|_|A S 1-11 5/8°
3 1-11 1/8°
| B } y } } } } ATl Ui X 8° X 31 172" SPADE 7 110 58"
6T ] _ . 8 1-10 1/8°
3 ol
i R » : ak 5 B -9 7/16"
2 R A—73 10 1-8 3/4"
2 5.9l 2 ]
2 gl w Il AM:I_ _I 1
N s A: —IA—I:
21 .@M 3 12
- _ , S
8" ' IN\@ 13/16" HOLE
_ (FOR GALV)
¢ 7/8° HOLES 41
¥ M_Nmmmwu%nx TYPY VARIES, _ IN_o 558" HoLES _
o [ | (PER CHART) (4) REQD
T 1 TO BE FIELD DRILLED | {| '
i i |
T2 SIDE VIEW i} |
3% CITEM 4 18) —_——— 37"
i |
N..@W: 1 _
®7/8" HOLE E T
TOP+BOTTOM /
1/2* HOLES 2 REQ'D S3x3.7
— & TOP VIEW  TOP+BOTTOM CTYP) ! !
7/8" HOLES 6 REQ'D 5 _ _ _
o] (TOP & BOTTOM) \
. : N . N N " N L M ! IEZEEG
v h T T T T T T T T —_ —— — L
| | T _ _ _ WPS 3040
ol 6"
9'-97' 1
7l :rww_ 111 / 1
1390 _ _ 845"+1/8" _
1508 g WPS 3040 [
| i _ |
]
21-9%"
2 (1] " 1
2498 _ _ 1/4" |/ 2-10 _
@ 7/8° HOLES w_m: i1 !
FRONT+BACK (TYP.
4 REQ'D SIDE VIEW — 1ol — _ _ _
_— 2 111 !
; P
5 — i |
m_: |‘|_ _ (] ]
I |
3-ofr CITEM # 17 i} |
e, i |
7.9k 15 !
172" HOLES 16"+1/8" _ _ _
7/8° HOLES (TOP & BOTTOM) $7/8" HOLE _ _ CITEM # SO _
(TOP & BOTTOM 4 REQ'D (TOP & BOTTOM — 6" ! _
¢« + VA + + NI _t _._. I_I
_ _ d A 23/8"
45" = 104" \; QL WPS 3040
2 — 45" FRONT SIDE
N_-:N_A 1
5-113" 105"
8-113" ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 3 0F 8
" 4430
14'-11% .
z ey APPROVED BY: BRIDGE RAIL DETAILS SHEET
17115 EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
DATE | DESCRIPTION BY| R [NO.] DATE | DESCRIPTION |BY|
iy 7/8/13 [REVISED PER 6/28/13 MARK UP |EF.| E
RK/JG/GL s 1/23/13 [REVISE PER 7/23/13 EMAIL |EP.| V
] DRAWN E.P. 5/30/13
,.._C_ 25 2013 ZCERTIFIED
Yy y N.N\.U.m_.mh.m..mw.zl\.q ¢ <FABRICATOR|| CHECKED D.L. 5/31/13
CITEM # 16 NO Approved 0AKS CORNERS, NEW YORK 14578 APPROVED | . .
KH 8-8-2013 E—Mail: dlong®elderlee.com SCALE SCHEMATIC
| - | Tel:315—789—-6670 Fax:8315-789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


PLAN VIEW

m: —|
4"
”A " X 8" X 24" SPADE

A=

HOLE POSITION CHART

POST LENGTH

1'-6 13/16*

1'-6 5/16"

1'-5 13/16"

Hl W] —

1'-5 5/16"

7.
I
ri

3'-

6"

VARIES,

(PER CHART)
TO BE FIELD DRILLED

5

| 3"

N :
o 5"

(4 REQD)

ASTM A572 Gr. 50

WPS 3040

/4" |

2-10

16"

CITEM # 40

|9A|_.

\-2 13 /16" HOLE
(FOR GALV)

\\<<m X 9|1 BEAM

WPS 3040

\ 14"/ 2

WPS 3040

14"/ 2

FRONT

SIDE

PLAN VIEW

-

U4 X 8" X 31 1/2" SPADE
5.
* 8

PLAN VIEW
—i— .

U4 X 8° X 31 1/2" SPADE
5,
A 8

HOLE POSITION CHART
POST LENGTH
9 2'-0 15/16*
10 -1 11/16”
1 1'-10 7/16"
12 1'-9 3/16*

1 1.
U AIE oy
| s | -
8" ! /@ 13/16" HOLE 8" _ /@ 13/16" HOLE
(FOR GALV) (FOR GALY)
Ll 1l [
26" _ 'N-0 5/8" HOLES _ _ 'N-0 5/8" HOLES _
fl| @ reaD ! l}l| @ recD !
i | s |l |
(PER CHART)
H ! TO BE FIELD DRILLED !} [
_ _ _ ASTM AS72 Gr. 30 _ _ _ ASTM AS72 Gr. 30
g 37" _ .tk 37" _
- T - N N
_ _ _ a7 _ _ _ \s3x5.7
(] ] (] ]
_ _ _ \ 14" 238" _ _ _ \ 14" |/ 23/8"
_ — _ _ I L _ WPS 3040 E — _ _ — - _ WPS 3040
(] / ] (] / ]
it g || I i ||
H WPS 3040 | 1 WPS 3040 |
I | | I | |
_ _ 114"/ 210 _ _ _ 14" |/ 2-10 _
WAW: (] ] w._W: (] ]
il | il |
il | il |
il | il |
16"+£1/8" "41/g"
I HCITEM # 32>| ] bt I CITEM # 33| ||
(] ] (B} ]
FRONT SIDE VP 3040 FRONT SIDE WPS 3040
ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 4 oF 8
APPROVED BY: BRIDGE RAIL DETAILS SHEET
EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
RE G DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY|
RKIGIGL s e Ve e o] v
July 25, 2013 Rt
Ul NO Approved 0AKS W%%%WHZWW %.Rm:ﬂ.w APPROVED | .
KH 8-8-2013 SCALE SCHEMATIC

E—Mail: dlong@elderlee.com
Tel:315—789—-6670 Fax:315—-789—-6615

DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


40" PAY LIMIT

HSS 6x6"x3/16" Kickback
@ 8-10" w/End Cap

4' o
3.
— } } } ﬂ_ﬂrA
I I I I I I T I I I
3 ool o o )
POST 16 POST 15 POST 14 POST 12 POST 11 POST 10 POST 9 12+ POST 8 POST 7 POST 6 POST S POST 4 POST 3 POST 2 POST 1

NM__
HSS 6"x6"x3/16" Rail %20 |
@ 171112 e e T T T T 1,

@ 3-0" SPACING = 9-0"

I e e A i N O 3 2
| \ ; ] ]
g 7 j 1 |
10&" 1119
SR S - S - B—— O - N S—. - --Lm.ﬂ--|--l-hﬁ.ﬂ_l:l:. e R | |
2'-3 r r
4 — T L kX L
P —— < e =
! I - H @
4 - 1L 4 | 44 L 4 J L § J1L J1L
NN fid ) fid ain NN Alh Alh slls
L dal IR It | Il del L L v v v ‘_
| ‘ ——
3. 4 SPACES @ 3-0" = 12 o
S3X5.7 POST @ 63" W/ SPADE W6x9 POST @ 7'-1/2" W/SPADE
@ _ 7 7 S3x5.7 POST @ 7'-1/2" W/ SPADE _ 7 7 @ 2'-0" SPACING (3X) = 6-0"

>
I
my
my
me
my

..>..|:>:Mf “.. ® ® 0 , “./.

/
b o ” "
34 35 /29
L/

GUARD RAIL TO BRIDGE RAIL TRANSITION
WW2 (STRAIGHT) & WW4 (W/ 20" RADIUS)

I I I I I I I I }

I .
:m:l:m: . 1 t \ “‘ . . .“ '
//\ / — ,_\N:
ITEM #: 900.620 (TRANSITION) FR Lafayette - JAMAICA, EM13-016 _ SHEET 5 OF 8
APPROVED BY: BRIDGE RAIL DETAILS SHEET
EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
- DATE _ DESCRIPTION BY| R |[NO.| DATE DESCRIPTION BY]
x_Soar s 7/8/13 [REVISED PER 6/28/13 MARK UP [EP.| E
1/3/13 REVISE PER 7/23/13 EMAIL _
July 25, 2013 M CerTiiE]| _DRAWN E.P. 5/30/13
m.hb.m_.mh.m..m. .N..Z.Q. N ")) <FABRICATOR|| CHECKED D.L. 5/31/13
) . Larws
NO Approved 0AKS CORNERS, NEW YORK 14518 APPROVED | . .
KH 8-8-2013 E—Mail: dlong@elderlee.com SCALE SCHEMATIC
| Tel:315—789—6670 Faxr:315—789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


WELD ‘2*

INSIDE TUBE

Welding Detail
WPS 3007

FRONT

SIDE

BILL OF MATERIALS, (EACH) WWwZ2 & WW4 CORNERS HARDWARE NOTES I —
ITEM #] QTY. DESCRIPTION MATERIAL CASTM ITEM # FUNCTION
2 4 |3" I-POST, PUNCH 87, & 20° W/SPD @ 63’ LG AS72 Gr. 50 % wmﬂ mnHm__..M_wzw_L__.mm_.mH wm_,_\_m_.%mnﬂmﬂ ﬂwva e 765 stor
w w mwammv_M_mu ﬁ_w_wmmq m(_\ummw mmw.um_.m _.,m\ VZRSTITES A500 m»mwm\mwmwM &0 21 [BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM # 3D % "
. . r 23 |(4> PER SPLICE TUBING (ITEM # 7, & 35), & (4) PER PARAPET WALL CONNECTION (ITEM # 26)
10 20 |REG BB SHELF ANGLES @ 4-1/2 AS72 Gr. S0 24 _|BOLT RAIL (ITEMS # 27, T0 BLOCK-OUTS CITEM # 13
1 3 |DWY BB SHELF ANGLES e 4-1/2* AS72 Gr. S0 25 |BOLT DOUBLE BEND SPLICE TUBE CITEM #12) TO RAIL (ITEM #30> & KICKBACK CITEM #15) & ITEM #1D 3k A3l
12 1 |HSS 5X5 DBL BEND TUBE SPL @ 28” LG AS00 Gr. B / AS72 Gr 50 TOP VIEW -
13 8 |HSS 6X8” TRANS. TUBE B/0 @ 6’ LG AS00 Gr. B _ —3"
15 1 |HSS 6X6” BB @ 9'-0” KICKBACK, W/ CAP AS00 Gr. B / A36 _ _ = g
19 19 [3/8" X 7 1/2° BOLT, NUT, & 2 FW A307, AS63, F436 o m_
20 23 |1/2" x 1-1/2" BOLT, NUT, & FW A307, AS63, F436 PLAN VIEW © Qg -
21 16 [9/16” x 1-1/2° BOLT, NUT, 2 FW & LW A307, AS63, F436, ASME BI8.211 =AY VIEYY 2 5/8" (2X)
23 16 [3/4" X 7-1/2° BOLT, NUT, 2 FW & LW A325, AS63, F436, ASME BI8.211 m: " - 3-1/2" X 5" X 3/8" ANGLE
24 8 |[7/8" X 7-1/2° CARR BOLT, NUT, FW & LW A307, AS63, F436, ASME BI8.211 _“_| —3 4
25 2 |[3/4"” X 7-1/2° BOLT, NUT, 2 FW, & LW A325, AS63, F436, ASME BI8.211 X 8" X 24" SPADE FRONT VIEW PLAN VIEW
26 1 |PARAPET WALL CONNECTION AS572 Gr.50, A615 Gr.60, AS00 Gr. B
27 2 |HSS 6X6” BB EXT. RAIL e 16-2 1/16” AS00 Gr. B CITEM # 10
29 1 |HSS 6X6” BB TOP TRANS @ 14'-6 3/4" LG AS00 Gr. B e
30 1 |HSS 6X6’ BB TOP TRANS @ 15-2 11/16° LG AS00 Gr. B 3
3l 4 |WéX9 POST @ 7-1/2” W/SPD & 5/8" HOLES A572 Gr. 50 7 —23-—
32 4 |3” I-POST, PUNCH 8" & 26°, W/8X31 1/2° SPADE @7'-1/2° AS72 Gr. 50 3 |_Nm_| - - )
33 4 |3” I-POST, PUNCH 8” & VARIES’, W/8X31 1/2” SPADE @7/-1/2" AS572 Gr. 50 - e Qe JOLES
34 0.5 |HSS 6X6” BB @ 17/-11 1/2°, DRILL 3 CC AS00 Gr. B 13T 43 e/ CTYP)
35 2 |HSS 5X5 2° BEND TUBE SPL @ 27° LG PER BOM [ 1 4 NG 13 /16" HOLE M mW and
(FOR GALVY) s [\ ¢
1 1
175"
BILL OF MATERIALS _ » &
- |mw.| \I 5/8°x2* SLOT
ITEM #|QTY DESCRIPTION ASTM 3l
3-6" 2
- 1 1] |
1 1 5x5x5/16° TUBE @ 277 AS00 Gr. B N\ 58" | r_\_HI_\ sk T3 1/2'x5"x3/8" ANGLE
2 2 | SHIM PL 3/8x4 @ 9 1/2* W/ HOLES AS72 Gr. S0 NOTE: REQUIRES ONE AS SHOWN, ONE (4 REQD) or _ _ _ 3.
3 2 SHIM PL 3/8x4 e 9 1/2* AS72 Gr. S0 |wITH BEND IN OPPOSITE DIRECTION | lrrler T —°
4 3 IN-PR BACKER, 3/16"x1"x4” A36 | ~WeXe1BEAM _ _ _
5 1 | FORMED BACKER PLATE 3/16'x1"x4’ A36 ASTM A572 Gr. 50 W 5
NOTE: PART IS SYMETRICAL WPS 3040 CITEM # 1D
14 /2
N.|w: w_.owz ] —6"——
|w:|
AP "\ 3. |
L..—@ " " 4 | m 8"
4 6"TYP.f — 5" — i
B-UIVb @1 HOLE WPS 3040 m_ _ “ & _ -+ _
THRU, TOP _qn
wps 30077 ps \ THRU. TOP IA 1"TYP. 3 I_ L I<._ rcPI I _ 4+
G L | 8 | 2 BZE0 4 e | + _
N1 NAR . o
w An] 5/8° LR |
-~ 19 o ¥ R z
|||||| — " IW:'
— w |_| — — RK/JG/GL Js T T
—~| - ..._.<_u _ _ CITEM # 13>
TYP et s WPS 3040 July 25, 2013
wps 3037 / S/16°/ 276 NA 1n uly 2o, ] “ C/"
I 1R NO Approved ! "
16 KH 1 8-8-2013 _ _ [~07/8
MITER EACH SECTION @ 1° ANGLE AP
i (ITEM # 31) .
T ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 6 0F 8
—
By APPROVED BY: BRIDGE RAIL DETAILS SHEET

EM13-006, JAMAICA ER BRF 015-1 (23)
TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30

DATE | DESCRIPTION BY| R [NO.| DATE | DESCRIPTION _|BY|
7/8/13 [REVISED PER 6/28/13 MARK UP |EP.| E
1/B[%5 REVISE PER 7/23/13 EMAIL |EF.| V
9C DRAWN E.P. 5/30/13
.m.hb.m_.mh.m.muhz.ﬁ.. w@ <FABRICATOR|| CHECKED D.L. 5/31/13
0AKS CORNERS, NEW YORK 14578 APPROVED | . .
E—Mail: dlong®elderlee.com SCALE SCHEMATIC
Tel:3156—789—-6670 Fax:315—789—-6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


17-11 172"
14'-11 3/4"
11-11 3/4"
8'-11 3/4" 1
5-11 3/4" — 105" —
[————— 2'-11 3/4"
.—: AI:
W2
hM: II_ ~I w:
|||||||||||||||||||| - .
--Mﬁ.-\mm.l..H.H.H.Il&.“.“.“.“.“.“.MM.H.H.H.H.H.H--..H.H.H.H.H..M&.H.H.H.H.H.H.%H..H.H.H...Hw/. -.le A
®7/8" I_H__l_mlx
TOP+BOTTOM DRILL ®1/2” HOLES ®7/8"” HIOLE
> REQ'D TOP+BOT TOM CITEM # 34 TOP+BOTTOM
O REQ'D 2 REQ'D
3/16"
. %-lr-lr ........... —————————————— ————————————— ————————————— —————————————— e e
m: R R R T R R T R R R R R R R R — E——————————— JE—
e e S e e e S EEEE T S EEEE S EEEE e e e
PLAN VIEW
8"
4 PLAN VIEW
IHlﬂE X 8" X 24" SPADE CITEM # 2) _ g A H |_| _vH 7\_ “_n_” “w v o RKIGIOL 35
July 25, 2013
— Im__ 7 _ 4" NO Approved
m_f_ + 7 1 1 ! s 1“x7* HOR. SLOT
12" 1/4" X 8" X 24" SPADE <77 :
IH| AT/ —L 2 ASTM A572 Gr. 50 3/8"x4"x9-1/2" TOP+BOTTOM
Ik (o ot S =
8" _ _ 13/16* HOLE — 5. WPS#3016 e ;
_ I _ (FOR GAL V> Se gl 8 1 _ _ YR __vm 1’x7* HOR. SLOT 5
|ﬂ4 A4 8 5 1 H__u+w_“_j_“_zw v
A':
" il | | — B T
_ sl H AT/ T 16 M h\ 1
1k 1N ! ' [\ 13 /16" HOLE -ir ||_
_ 35" S3x5.7 | 16" (FOR GALV) I ——
- o) 4 3" I T "=
H_ub_z%m_m.__m_za_ﬂmu i7/® 5/8" HOLES ] /@ 5/8" SLOTS 6"
arew om | TV | | (2x) ! —1'-1 3/8" B-UIVB-F
1/4" _\m 3/8" WPS#3007
I ! WPS 3040
[N |
e ) 1/4" _\N 3/8" / LVAV:H._\m: HSS UnXMnXU\HmnI/
WPS 3040 ) !
_ _/ 63x1/8" _ WPS 3040 CITEM # 12
! WPS 3040 ! it | _ A" - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE
14" |/ 2-11 ACCORDINGLY.
_ 24" ! ! S3x3.7 “B* - TURN DOWN ANGLE SET BY THE 9 MEASURMENT
M _ 1 \ _ ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 7 oF 8
/ APPROVED BY: BRIDGE RAIL DETAILS SHEET
11 | EM13-006, JAMAICA ER BRF 015-1 (23)
] It ! TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
] " " " " DATE _ DESCRIPTION BY| R |[NO.| DATE DESCRIPTION BY]
4m+1/8" ._.__._. _ 4 H_._\Mw 1/4" |2 3/8 7/8/13 [REVISED PER 6/28/13 MARK UP |EF.| E
| " " 1/23/13 IREVISE PER 7/23/13 EMAIL |EP.| V
174 _\N 3/8 <<_Um WOAVO \ \ _ \ \ SCERTIFIED DRAWN E.P. 5/30/13
WPS 3040 ELDERLEE,INC. )] <FABRICATOR|| CHECKED | D.L. 5/31/13
FRONT SIDE FRONT SIDE O4KS CORNERS. NEW YORK 14578 APPROVED | .
E—-Mail: dlong@elderlee.com SCALE SCHEMATIC
Tel:315—789—6670 Fax:315—789—-6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing


/e’
TOP+BOTTOM CTYPD

HOLES

MITER CUT FOR DRILL #7/8” HOLE 4 REQ'D CITEM # 305 3@_
8'-10” KICKBACKS \ TOP+BOTTOM \ |r_hm__1| ﬁw__
e 1p-1/2° .
||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| 4 e
} t t NT — *
- _AI 07/8 j.__uc.Y *
TOP & BOTTOM
27"
57"
8-7"
117"
A
15 ma
| _ _ _ _ L |
_ [ 1 1 1 1 ] ] .,
% “ _ 1 1 1 1 _ _ m
3. _ _ _ _ _ I *
16
1/72” HOLES
1, TOP+BOTTOM CTYPD 10
- 105" | (ITEM # 29 — 105"
4 2 \ 4 REQ'D 2 .
— 4 |— —] 4" |—
il e
I W W W e
AN t t t + *
//3\% THRU 07/8 j.__mc.Y *
TOP & BOTTOM TOP & BOTTOM
27"
5-7"
m_lﬂ:
117"
.—A—I@N:
L | _ _ _ | L |
|| | | | | | ©
[ [ [ [ [ [ [ [ *
172" HOLES ’
I TOP+BOTTOM (TYPD ._@_N__U\.Ww_uﬂm__mm 8" —
L \ 3 REQ'D 2 REQ'D 2
l_ £y
: F—— f * dH— e
Z..S\m. THRU gl — & ‘
TOP & BOTTOM 2
11-ed
130"
e
L ITEM #: 900.620 (TRANSITION)  FR Lafayette - JAMAICA, EM13-016 | SHEET 8 0F 8
27/8" HOLES APPROVED BY: BRIDGE RAIL DETAILS SHEET
FRONT+BACK (TYP.D X EM13-006, JAMAICA ER BRF 015-1 (23)
L. mmD\U _l 3 — TOWN OF JAMAICA, WINDHAM COUNTY, VT RTE 30 (MINOR ARTERIAL), BRIDGE NO : 30
' t R[NO. | DATE| DESCRIPTION BY| R [NO.] DATE| DESCRIPTION |BY
— 6" E[ 1 7/8/13 |REVISED PER 6/28/13 MARK UP |EP.| E
— - ] * RKIGIGL = v[ 2 | 1/B/13 REVISE PER 7/23/13 EMAIL [EP.| V
195" July 25, 2013 2\ —Ciinio |_DRAWN EP. 5/30/13
"y m..ww. U\W N.N\.U.m_.mh.m..mw .N..Z.Q. 114 <FABRICATOR|| CHECKED D.L. 5/31/13
CITEM # 27 ; 5-93 NO Approved &Y O0AKS CORNERS, NEW YORK 14578 APPROVED | .
Vr@M: KH 8-8-2013 E—Mail: dlong@elderlee.com SCALE SCHEMATIC
_ Tel:315—789—-6670 Fax:8315—789—6615 DRAWING NO.FR LAFAYETTE - JAMAICA



jsalvatori
StructuresShopDrawing




